Code No.: 10180 B Sub. Code ;: SMEC 41

B A. (CBCS) DEGRDE EXAMINATION,
NOVEMBER 2022.

Fourth Semester
Economics — Core
MATHEMATICAL METHODS — II
(For those who joined in July 20 17-2019)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions,

Choose the correct answer :
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9. X=({-B)'D caflb X erenp Siefieps ———
ojanfl eranflGpmid.
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If X=(I-B)'D, then the matrix X is called

matrix.
(a) input (b) output
() technology (d) inverse
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Who is the father of the input - output analysis?
(a) David . (b) Wessily '
(¢) TFourier - (d) Laplace
PART B — (5 x § = 25 marks)
Answer ALL questions choosing eithér (a) or (b).
Bach answer should not exceed 260 words.
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Tind the first derivatives of (xam + 5‘\/; )
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13.
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Qegpeass snrens.

Find the first derivative of (x’ +e* —8).

2 : s, B2 . Oz .
== (dx"y" - 8) aep anr DS o i gmm
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If z=(4x*y'-8) then find (i) ™ and
(i) =
&y
Or
u=x"+2y eap smdpE Qurgs ceamss

Qepeeus sreans.

Find the total differentiation for u=x"+2y".
I("lx +e* ~T)dx g enana.
Find [(4x+e*~T)dz.

Or
parCanit 2 Lfieow euepuUmIGEa]D.
Define consumers' surplus.
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A= bk =

[5 A -G} wppd B [S -5 3]
erefllch 2A + 4 B mi srars.

1 2 —
If A= 3 and B= 210 then
5 4 -6 8 -5 1

find 2A+48.

Or
TCaaib apengy auens Sanflaenars upidl T
Write any three types of matrices.
e_arefl @5 Qe upd Hm GHLY umps.
Write a short note on input co-efficient.

Or
earaf® - GaelSl ugLurieflan Gurmenst
NS
State meaning of input - output analysis.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=) Ger@ésiuct &ﬁnﬂﬁ)@ BL@um whmb SFfm

iy srarusparer sllfopenpsmar sfps.

State the procedure for finding the maximum
and minimum value of the given function.

Or
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(&) BUQur wpph BeAlp wHimus Gerab

(i)

arr@pEs srams y=2x" —~3x* -36x+10.

Find the maximum and minimum of the

following function y =2x® —3x%-36x+10.

1, .8
u= mn"[ﬁ] cap srmdpg  wefldn
x—3y
L. . ] ) u du .
Catpiemal vwaLBsd x——+y—=sin2u
. ox oy
eren Blmp9és.
4y .
If u=tani=—"< | then prove that
=y
:EE; ye—u =gin2u by using Euler's
cx oy
theorem.
Or
z=(2x% +3y%) (x* —¥*) cap enriQdE Quorss

cumssbeqgais srans.
Find the total differentiation of

2 =(2x = 3y%) (x? - 3%).
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18.

19.
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Qer@éstiuc Qare Caenau sriy Py = 250 - 20
inHmid safiiy amivy P, =5D+60
SpBweindlhe o pusHurai erisn srams.

Given demand function P,=25D-20 and

supply P, =5D+60, find the
producer's surplus,

function

Or
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Evaluate - ‘I'(Jt:2 +5x+T)dx.
2

4=’
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Boieys.

1
2] aafles A*-54+T7I=0 erer

IfA:[a
1

1
2:| , show that A>-54+7I=0.

Or

2 2
A= ':3 5} orestm ienflds Criongy srdrs.

Find the inverse of the matrix A =|:§ 2] .

Q
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20.

(éi)
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e arem(® QeueflSL® wrPfluden Lwsumasmar
cllerdseyLd.

Explain the different types of input - output -
model.

Or
Qeneumeueneuiiline m GHILL euenys.
1) odmal® - Qeueliui® <i-Leuenest
(i) Gamfleomlu Gerasdear samssi.
Wri-te a short note on :

(i) Input - output table

(ii) Computation of technical co-efficients.
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